[ZKIERR]

(5) FEEEREMERS 3
5 5 FL/IGR AR AU B AR T CUITESS Y

1 HRR R
KA $»150~300m L=700m
(1) FoME R 33 B ‘
55 1 B R BT X B K AT T (MmE&s 1) AHEEH PR3 1AREE
FUKE  ¢150~300m L=351m (6) Hthrarpkiiya s

BEE LGRS - B IPCEOKEATRE T8 (MifE>  6)
HiRKE  ¢9150~350m L=1,222m

SRR PRk 3 1A
(2) HEErEmE L

55 1 RO T KA 3 T REEE 2) SR Pk 1 4R
RK%  $150m  L=200m () EhTEEE
HI XK E AR T =
e T 1 L H A A B T REEE T)
K 50~100 L=270
() ST 4 AR " "
5 2 BT FEH XA s T REEE 3) SR Pk 1 4R
BUKE  $150~200m  L=743m ®) EhTEEG
[ HX B KA AR T ] 28
e T 1 T MR A s T (REEE 8)
KE 50~75 L=140
(4) ST 4 R0 . "
5 3 RO P A A T (REES 4) SR PR 1 4R
YEUKE  6200~250m  L=674m () BhTEEG
SRR b T (HEEE 9)

SRR PRk S 1A
Bk d#100m L=210m

SHEEAR PRk S 1A

110



(10)

(1D

(12)

(13)

(14)

EATE R
TR B E AR T2

BlKE & 50~75m
FHEHEART PRk S 1A

ENTERREE
AT XK AT T8

Ve & 50~75m
SRR PRk S 1A

TR
AN HIXEORE AT T2

BlKE $»50~75m
SRR PRk S 1A

EATERRIEE
/INEF X R B AT T2

(X
L=180m

(&=
L=80m

(X7
L=184m

(X7

BlKAE ¢ 7 Hmm L=68m

SRR PRk 3 1A

ENTE RS
At IR B AT T2

BlKE $»50~10 Om
SRR PRk 3 1A

(&=
L=115m

10)

11)

12)

13)

14)

(15) BACRIEFHmF &
= NB KA BT B T (X 7

HPET L=290m
HEHAR PRk S 1R

(16) EKAH MRS E
ARG A PR A E R R T (s

PEET  1L=120m
HEHAR PRk S 1R

(17) [ I Al ]
CH) LB i D SRR T (K

BlKE $#50~250m L=165m
SHEHAR PRk S 1R

(18) [E- I Al ]
XA 61 2 RS s T (i

BlKE ¢ 7 Hmm LL=70m
SHEHAR PRk S 1R

(19) [ e e )
TN 1 O BB T (MR

Bk  $150mm L=200m
SHEHAR PRk S 1R

111

15)

16)

17)

18)

19)



(20) [E- - TR ]
i e LR e KA T

B KA ¢ 7 Smm
SHEHEAR PRk S 1R

(1) [ - drn e ]
I PR S A B T (S5

B KA ¢ 7 Smm
SHEHEAR PRk S 1A
(22) [H- B AR RS R

(& 7=
L=85m

L=125m

() SRSl R T (NEE S
BkE  ¢50~150m L=260m
FHEIIH] PRk 3 14REE
(23) [ - B BRae )
VROEAE R EY | PSR e T (NEE s
BkE  ¢100m L=140m
FHEIAH] PRk 3 14REE

(24) 51 BOAGR) [ F+ T X B K A e e e e At
o 3 ‘ (X5
et Lit XU
SHEHEART PRk S 1R

20)

21)

22)

23)

24)

112

(25) =) AR - ACK X B K Ao e Znt

o 3 \ (X5
EtEsLt X
HEHAR PRk S 1R

(26) 25 2 Bl /KR X K B AR e S it
o 3 \ (X5
EtEsLt
FHEHAR PRk S 1R

(27) 25 SEKSRIT I SR X K B AT R e e 2t
o 3 \ (X5
et Lt X
SHEHAR PRk S 1R

(28) %5 5 EC/KRIEAS A X K B AT iR e s 2t

(X5

EtEsLt X
HEHAR PRk S 1R

(29) B LBOACRES - B4 KB K S A s At
o 3 \ (X5
et Lt
SHEHAR PRk S 1R

25)

26)

27)

28)

29)



X B KB L2

,--"_"'.-' - e
2 '\_‘ \ A e
g
i ..\ e

)

DIP(GX) ¢200 L= 86m
DIP(GX) ¢ 150 L=226m

113



PR IR AL 2 55 TRC/K SRR H X Bl /K A A a5

V T T
= = i % 5 et "\.‘\ '\ -
= o Y e \9 %\
L= o\~ N ) L LR R
A e iR WRHE P n i S
10 3=k Y A i
= X 5 e
T
d Ll “ i
AN
L \ \ 1l

q 2

$150 L= 200m D
ot U

RHAEER

t i Z)E e L
\ N =t ﬁ P LT

114



HPPE ¢ 150 L

Pl iy BT ) e

| EEwa s /anl
s mmm_ [EONOI0d LI ) Lm_
|..)nm..||ﬂﬂﬂ/u., ﬁ ___ L _‘““__. ...Wv[_._..l.:k..
2]

F B2/KE HPPE ¢200 L

4
_:_r‘:
OF
[ ] :

g ﬂ_._-w_.&_uu,,.,.m--:ltm

"edl
m..u S=Esms==ao—

X

| !
XL
J|||/
ll“f
|

H31F

[

L'?JI
A

i
it
It
ook
B

X P 7K

Ae i

=i
SN

(=
JT

ALK
el

TTITITY

T
JI'r"r:lrrr

iy

T

T

HO£
=ET

L B

T

BRI R LR
iy

115



432m
242m

& DIP(GX) ¢ 250 L
& DIP(GX) ¢ 200 L

1] i 7

Bt 7K

E 1EK

XL
H31%

AR

T

PN BaEA S LAV N

3H K

5

i
\‘
.\\
7
g
\\
=
]
2 %
>
\
AN

L2

\\ R e e ius

| @
!

116



B N L V-

E&T 4E$%‘% %5ﬁa7k .zleﬂ[:L@EJk'_&/Tﬁ *RI$

3 \ \\

1 H3IFE EKE HPPE ¢ 150 L= 350m
‘ Fl/KE DIP(GX) qbsoo L= 350m

WHES

’ +
il
e

117

g™
e
].,I.FFF

wr'-vr.l-p,.m_,.r,r,.f{,r;r.l'}mfﬂ

e




i

.r"‘l (&(}/{ =, J.-"I., / I

- AW ﬁ\\cﬁ;j d
s

LY B LRI - T4 O R 7

v
LY
6
— ;.,:"S:}ﬁuw = |

&
25 n

= W S— %

) : ) .. 74
=50 NG
% HPPE $150 L= 1,000m |

% DIP(GX) ¢ 350 L= 222m}
B2\ =4 <

diN=2 7

118



X 1125 7 X ;

A \ L‘\. A“/"\
% PE ¢50 L= 120m |

.‘-\"\\,—’ -‘\\ YI‘. T
<& \“:‘- ) | ot \ "'.\ \

T A
i s, WS

1 H31FE EK

119



F BE/KE HPPE ¢75 L

u
\

LY

\

X AL 7K A

A

AN
Ay

\
4

1 \
\ : A\

A\ Y

o

Ju

A

At

Hh

orEE

EMEE

H31%

70m

= 70m

PE ¢50 L

120



O\ L il < el] I e o]
\\\ ; B A A A T HMERE |9 .

1) ]' ’\) 1) I/J ' ’ ‘, .
— / T I i

e Al - T (N
GEAE. A\ B DL Y-
& 5 fg: B =
j 1 T e
v X
g

L e
......

121



AN S, W S\ S\ N\ v | BV
R TERE RABKRASTRETE | REES

\ Mlx
\ Y

H31FE ECKE

HPPE ¢ 75 L=

SRENT

122



30m
50m

L

PE ¢ 50

F B2/KE HPPE ¢75 L

H31F

T=

=N
AX %E;l%

S
Fun
<
J
| =
X
4 =
it
T

.
<t ;

L) |I gz

em—

/, g —— )

I, e el

1 ..._.W\\ Vli.ul... Ton =

i |

/ .“ s _\ __\\IWU“.\\\..H.-
¥ L
'

SR

EE

123



SN Bl UL e

] i T
! i e L \‘\

H31¥%%E FEZ/KE HPPE ¢75 L= 82m
PE ¢50 L= 102m

124



3 N
—T PN = —
. X = ~

resadd || =g 2% Y e 1Y Y
EORTESE /DB X K E AT RO T

A

\ 4 b L ALl

H31%%E B2/KE HPPE ¢ 75 L=
WEETA ¢ 75 L=

i

125



L LLL e e

cridl i

ERE R R KEOK B A OS T

B

- v o7 K
,

> A e M
A AAPT
Lih> ',-1 < il

"

H31FE ECKE

HPPE ¢ 100 L=

126




\J \l.”f" u.n'

- e ;j
r1'.'. ) \.-_. ™ % ’Y/\f}
EEK%%E%%% g)llﬁﬂﬂwﬂiﬂé‘@ﬁﬁ %”Pé@% I$ Hﬁ%ﬂéﬁ

| H31%E %ﬁ I L=

127



[IOEiSE=

T

G T 7K A B P 2 I A

Zazan
3L

TS

i

=

<
L

A

E JOvOREET L

120m

} H31¥F

1.0m~5.0m

H=

128



LAY [ AR
AR\ Y f_‘u
S

pH RIFETKIR

B\ 'y 2§
F BE/KE DIP(GX) $250 L= 90m
PE ¢50 L= 75m

129



B

L

1]

BT

=Ju

At

Bl /K E AR

B;

F Be/KE HPPE ¢75 L= 70m

= H31%

130



R B L K B AT R L | B

131



[ 1 7

o S —
= =
AN

s s

K

Ju

Gl

18

T=

ﬁ B
Ho |
%
=
H)
o
&
¥ |
%
SB
= |
= |
# |
|
W |

132



HEPAX

] - - 0 e

133



R B S (BR) SRR U S B L K AT i T8 | X 7

2R\

———— T

. o 1 e 5
MELSZE DELE LS s
T RE DS e 2

S

1 M i 2 I ‘_.‘"' 1 I‘
 — ‘ " S \ X A

= H31FE BZ/KE HPPE ¢ 150 L=

L=

134



=] R TE R B S5 OB A ) N RS 1] i 3 5
J | T B\%]LE‘;H T - -

135



1] i 7

i

5]

Ju

Gi

=an
AX j:él}%

!
R
5
2
S
4
5

5

e TS

e

602m

TRCAGR N« KA l] DB K & A

A 2 L A NPT

e
«
- 5
. =
Al 1
Y
LR

%
" x _\g

[}

E BeK

H31F

U
314

A

kil
HPPE ¢ 200 L

Y&

A

136



S | 0
KRKE + BRI B A B AR e &

- TN \ VA= -
' 4 == % = h I - .
/Lki .Lﬁ'r =,-_- I'.; A\ 3 x- .
N | o

EHBBRHRBER —
HPPE ¢ 200 L=775m

137



IR E

o5 280 7K R YR DX K B AT RO R R T 2R R

| BERSBRE
S EEEER S -

< % |
e
N
b i
5 = A

i\

e
LN LR

&
" : ‘...-__; -___' | s i i - :ll I
i A I'. 'L_ g ::_'__- == g
\\ ; S : T 10 ——————— B} - T
3 = BT 1 pbm |4 X — T i___i_i'r:_'_L_,_l..l_i.'._lL.'-..i-'--'-—L_p- S

R R e _" = "_-'-—_' r\ \
L] H1 T BKEARERHEBRE —X
’ DIP(GX) ¢ 300 L=80m
HPPE ¢ 200 L=95m
HPPE ¢ 150 L=90m

EFE Hae "
| : - "‘_}l:'ill - \
A i BEEAEER |11
o, . [;ii i nHEEXTSE 1
1 : _‘ui = i .
7___.-.-~‘ N
\

138



X AL KB AT R R

Z T
§ \x,

i

;h éﬁ“’V ST
ST
2N\ V= \

]

&%i*“akf,\
o

RIEBEE —K |-
200 L=1,410m

HPPE ¢

139



PTG P
HESHURREIA - I M SR B A B R A T e
' H

o b

£ {2PE

3 ' . AE 7
’ - 4 &

f~——md 2
=<

1
8- A
=i

ZEILE AL

L__

R Lo

H31%

* RAKEHRBRILBRETL —=
HPPE ¢ 200 L=627m

T

140



SN W W TN N WO O~
B BT

e
pr/an
_‘\&/ 4

| m3%

RERHEBER —=
DIP(GX) $ 300 L=635m

i M=o gD 1P = 71 s L
PR AT
e ar= ey M 5 S Vi

141



